al-m

Addition (Vertical) Name:
Solve each problem. Answers
1.
1) 825 2) 4,453 3 64
+ 707 + 16 + 7 o
3.
4,
4 2,892 5 8,871 6) 7,272 >
+ 633 + 3,700 + 23 6
7.
8.
7 8,587 8 768 9 7,440 9.
+ 862 + 581 + 51
- 10.
11.
12.
10) gsg 11) 56 12) 897 13,
+ 46 + 47 + 18
14.
15.
13) 26 149 8,534 15 461
+ 9 + 7,376 + 38
w 1-10 [93[87]80[73[67]60] 53] 47]40] 33|
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Addition (Vertical) Name: Answer Key
Solve each problem. Answers
1 1,532
1) 825 2) 4,453 3 64
*t 107 + 16 t 7 2 4,469
1,532 4,469 71
3 71
4 3,525
4 2,892 5 8,871 6 7,272 5. _ 12,571
+ 633 +3,700 t 23 e 7,295
3,525 12,571 7,295
7. 9,449
8. 1,349
7 8,587 8 768 9 7,440 o. 7,491
+ 862 + 581 + 51
"o A0 —— 134
9,449 1,349 7.491 10.
11. 103
12. 915
100 88 11) 56 12) 897 L 35
+ 46 + 47 + 18
134 103 915 14, 15,910
1. 499
13) 26 14) 8,534 15 461
+ 9 + 7,376 + 38
35 15,910 499
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al-m

Addition (Vertical) Name:
Solve each problem. Answers
7,295 7,491 12,571 71
1,532 9,449 103 1,349 L
4,469 134 915 3,525 5
3.
1) 825 2) 4,453 3 64
+ 707 + 16 + 7 4.
5.
6.
7.
4 2,892 5 8,871 6 7,272 .
+ 633 + 3,700 + 23 '
9.
10.
11.
7) 8,587 8) 768 9) 7,440 12.
+ 862 + 581 + 51
100 g8 11) 56 12) 897
+ 46 + 47 + 18
w M odified 1-10 [92[83]75[67[58]50]42]33] 25] 17|
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